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Inflammation

Airway Hyperresponsiveness e 5 Airway Obstruction

Clinical Symptoms
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Increased
mucus production

Epithelial cell
hyperplasia

—— Smooth muscle
cell proliferation

| Inflammatory
$oei | cell infiltration
Mast cells IgE-producing i

plasma cells
T . 1
Promate T2 cell Dual roles in
| dliffe ation,. o = asthma. V1"
IgE class switching, | | Promote IgE - = — 18 T cells produce
mast cell c.lasssw:‘rchhs. Promate chemokine g’p;gakthvlﬂl IL-5and IL-13 and
recruitment, mast ce production and Suppress inflammatory | | disease severity. | | Promote AHR. | | promote AHR.
cinophil | |reer eutrophilia. 2 ? Promote AHR eosinophilia | | V4 y8 T cells
Role in | mucus production | | and mucus Mediate steroid innate and adaptive | [and ecsinophilia. | | and IgE class | | praduce IL-17A
exacert | fand AHR praduction. s il imenune cells Viral exacerbation?| | switching and suppress AHR
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